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108 1L Kt 56 46 102 |27.6 | 74.4 | 23%118118 133 |\ &L 44 48 92 16.8 | 75.2 23%118128

109 Tk F5% 45 51 96 21.6 |74.4| 3#118118 134 |[X] BB 5] 43 143 86 10.8 |75.2| 23114118

110 fE[R BUE 49 |52 101 26.4 | 74.6 23%11A128 135 JRFE & 44 42 86 10.8 75.2|23%11A128

111 || Fr—ER 43 146 89 |14.4 74.6|23%118118 136 H#T 86— 46 | 40 86 10.8 75.2|23%118128

112| 2[R {3 43 40 83 | 8.4 |74.6 23#11811R 137 | =B {HH—EH 52 46 08 (22.8 | 75.2 | 23118128

113 3% JEE 39 44 83 | 8.4 ' 74.6| 23118118 138 Hit —X 46 46 92 16.8 |75.2| 234114128

114 |00 FF0 40 49 89 14.4 | 74.6 23#11A128 139 & H.3 50 48 08 22.8 |75.2|23%118118

115 & B3 42 41 83 | 8.4 74.6|23%118128 140 [HH =& 46 |52 98 |22.8 | 75.2 23%118128

116 f2H 1Fth 40 49 89 14.4 | 74.6 23#11A128 141 TR J¥EFE 50 | 54 104 |28.8 | 75.2 | 23%118128

117 |58 A& 46 48 94 19.2 |74.8 23#11A128 142 | HE = 47 |51 98 [22.8 |75.2 23#11A118

118 [ 4% 45 49 94 19.2 |74.8| 23%11A120 143 Ejo] 8 47 57 104 | 28.8 | 75.2 23#11A128

119 |57 BBk 57 149 106 31.2 74.8 23118128 144 (H8F Z3 55 55 110 /34.8 | 75.2 | 23#118118

120 [ B3 43 /45 88 13.2 |74.8 23#11A118 145 TfE T 46 | 51 97 |21.6 |75.4 | 23%118128

121 1= BE'R 46 | 42 88 13.2 |74.8| 23118128 146 fRE E 52 45 97 |21.6 |75.4|3%118128

122 (s &3z 45 43 88 |13.2 74.8 23#118118 147 Jolim 52 48 49 97 121.6 |75.4 23%11A11H
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158 1Tfi% 522 40 | 44 84 | 8.4 75.6 | 23%118118 183 |[E & 1Efat 48 45 93 16.8 |76.2| 23117118

159 K& #ib 43 |47 90 14.4 75.6 23%11A118 184| A E— 43 44 87 /10.8 76.2|23%118128

160 flEE IE)A 46 50 96 20.4 75.6 23%11A128 185 =iF 1¥4Y 42 45 87 10.8 |76.2|23%11A118

161 KL FR 37 |47 84 | 8.4 75.6| 23%11A128 186 | H1)|| Ih&] 50 49 99 22.8 |76.2 23%11A128

162 5K 1£03 46 |49 O5 |19.2 |75.8 | 23#11811A 187 12 BA 50 49 09 22.8 |76.2|23%118128

163 |{FiE Z2 50 /45 O5 |19.2 |75.8 23#11812R 188 ki =18 45 42 87 110.8 |76.2 | 23118118

164 J\X, &AL 44 |45 89 |13.2 |75.8 23#11A11R 189 |/|\#K I 48 51 09 22.8 |76.2|23%118118

165 FEF HED 46 | 49 95 |19.2 | 75.8 23%117118 190 2R =T 45 54 99 |22.8 |76.2 23#117128

166 ik 5hE 51 50 101 25.2 75.8 23%118128 191 HIF &= 52 | 58 110 1/33.6 |76.4 | 23%118128

167 =45 (& 45 44 89 13.2 |75.8|23%118128 192 ||| &8 52 |46 98 [21.6 |76.4 23#118118

168 A Bk 47 54 101 |25.2 | 75.8 23%118128 193 1515 JIE 49 43 92 |15.6 |76.4 23118128

169 FHK H& 43 | 46 89 |13.2 | 75.8 23#11A118 194 =F 25 48 |50 98 21.6 |76.4 23#117128

170 | [&F ST 45 |50 95 19.2 |75.8| 23117128 195 jEH #E8 47 |51 98 21.6 |76.4| 23117118

171 ] 1EA 49 51 100|24.0 | 76.0 23118128 196 || LI Bk 51 (47 98 [21.6 |76.4 23118128

172 ] =2 48 |52 100 |24.0 | 76.0 23#118128 197 [EH —& 47 45 92 15.6 |76.4 3#118118

173 #Z1L 1&i& 44 44 88 12.0 | 76.0 23%11A128 198| 42 42 | 50 92 15.6 76.4 23%11A128

174 54 48 46 94 18.0 | 76.0| 23118128 199 JEEB 2255 46 | 46 92 |15.6 |76.4| 23%118118

175 SEA Kid 41 | 41 82 | 6.0 |76.0 23#11811R 200 1 AAR BZE| 39 (47 86 | 9.6 |76.4 23118118
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205 || E— 49 147 96 19.2 |76.8 23%118128 230 FR N 5545 100|22.8 |77.2 | 23%118128

206 AfRH L& 45 | 45 90 13.2 |76.8 23#%11A12H 231 — BS51E 46 |42 88 110.8 | 77.2 | 23118118
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208 AR GEEZ 50 52 102 |25.2 | 76.8 23%#11A118 233 B8 B+ 43 139 82 | 4.8 |77.2 23118118

209 FEF ZeiX 52| 56 108 |31.2 | 76.8  23#118128 234 | {£R% S 56 49 105 |27.6 | 77.4 | 3#118128

210 |fa[ER 85— 46 50 06 |19.2 | 76.8|23%11A11H 235 AL & 47 | 52 99 21.6 |77.4|23%118118

211 )10 #8817 55 47 102 25.2 |76.8 | 23%11A118 236 {Rf%E {§HEE 53 52 105 1(27.6 | 77.4 23%118128

212 fEH 6= 48 48 06 |19.2 | 76.8|23%11812H 237 IRFHF HH 48 51 09 21.6 |77.4| 235118128

213 izi8 i 58 50 108 |31.2 | 76.8 23117118 238 JtE HEA 44 43 87 9.6 |77.4 3#11A11A

214 B —% 48 | 48 96 19.2 |76.8|23#118118 239 Ei5 Fl|5= 52 | 59 111 133.6 |77.4 23%118128

215 H 85k 44 | 51 95 |18.0 |77.0 23#11811R 240 {RiE = 48 51 99 21.6 |77.4|23%118118

216 | |LIA B4 50 51 101 24.0 77.0 23%#11A118 241 =& —Bf 46 47 03 15.6 | 77.4| 235118128

217 =R 18 51 44 95 18.0 77.0 23%11A128 242 | TEA 49 |50 99 21.6 |77.4 3%118118

218 HEF HA 48 47 95 18.0 |77.0 23118128 243 |1f§ = 50 43 93 |15.6 |77.4 23118126

219 FMiE ES 42 41 83 | 6.0 |77.0 23%118128 244 [TH 8502 44 43 87 19.6 |77.4 23%11812R

220 #f_E t6F 55|52 107 |30.0 | 77.0 23#11A128 245 {FiE B — 46 |47 93 |15.6 | 77.4 234118128

221 KFHF {H— 45 44 89 |12.0 |77.0 23#11812R 246 1% &2 50 43 93 15.6 |77.4 23#11811R

222 #ufE [EXER 50 39 89 (12.0 | 77.0|23%118128 247 | KEF —#5 48 51 09 21.6 |77.4| 3#118118

223 TiE # 52 48 100 22.8 | 77.2|23%118128 248 =& SaBA 50 60 110 /32.4 | 77.6| 23118128

224 BN $i—HB 43 | 45 88 |10.8 | 77.2| 23#11A11H 249 |7 BRSE 54 | 56 110 32.4 | 77.6 | 23%11A11H

225 ZEH FE8 42 46 88 110.8 |77.2 23%118128 250 N BE= 57 47 104 |26.4 |77.6 23%118128
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251 TfE 1E4& 53 51 104 26.4 |77.6 23%11A128 276 BE L3 51 |56 107 28.8 |78.2 23#11A118

252 Iy HEih 52 52 104 |26.4 | 77.6 235118118 277 11O 8th 41 42 83 | 4.8 |78.2 23118118

253 || 1|IF SEtE 45 | 41 86 | 8.4 |77.6 23%11811R 278 =47 &= 51 50 101 122.8 78.2 23%11A118

254 St =& 51| 47 08 20.4 |77.6| 23%11A128 279 8y SeiE 50 50 100 |21.6 | 78.4 23#118118

255 HH [EE 52 | 46 98 20.4 | 77.6 23#117128 280 S FF 48 |52 100 |21.6 |78.4 23#11A118

256 HHET {ZHA 58 52 110/32.4 | 77.6 231178128 281 ;i 485 51 55 106 |27.6 | 78.4 23117128

257 {REE g 48 |49 97 |19.2 |77.8 23%11A128 282 | Bt &1 55 (45 100 1/21.6 | 78.4 23%118118

258 AK BT 48 | 43 91 13.2 |77.8 23%#11A118 283 {Ri& = 49 51 100 |21.6 | 78.4 | 23118128

259 ;7 BN 49 148 97 19.2 | 77.8 23%118128 284 | A% 5AX 46 |48 94 |15.6 | 78.4 23118128
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264 /|\EF E& 49 |48 97 |19.2 |77.8 | 23#11A11R 289 E1/H 8 53| 53 106 |27.6 | 78.4 | 23%118128

265 A B— 47 44 91 13.2 |77.8|23%11A811H 290 Al i 41 41 82 | 3.6 78.4|23%118128

266 L QK Mk 49 | 48 97 |19.2 |77.8 | 23#11A11R 291 |nfim F3k 50 49 09 20.4 |78.6|23%118128

267 | HEAK &= 49 48 97 |19.2 |77.8 23%11811H 292 A2 1Rl 43 50 03 14.4 |78.6| 23118128

268 | tnAS [B5iE 50 |52 102 |24.0 | 78.0 23%#118118 293 fRE B 54 |51 105 |26.4 | 78.6 | 23#118118

269 HH RG 48 54 102 24.0 | 78.0 23%11A128 294 | Eit5 % 49 56 105 26.4 | 78.6 23%11A128

270 & FX 52 56 108 30.0 | 78.0 23#11A12H 295 [f8H H— 50 49 09 (20.4 | 78.6 | 23118128

271 | 1818 H[A 49 47 96 18.0 |78.0 23#11A118 296|110 X— 41 40 81 | 2.4 |78.6 23#11A11A

272 |1IK $—EB 45 145 90 12.0 | 78.0| 23118128 297 | paEp B 55 |56 111 32.4 | 78.6 | 23#118118

273 {EA K P& 53 43 O6 |18.0 |78.0 23#11811R 298 | ES 7T 55 156 111 32.4 | 78.6 23%118128

274 | = lE 55EH 52 49 101 |22.8 | 78.2 23%11A8118 299 ¥1H & 51| 48 09 120.4 |78.6| 3#118128

275 JliE FZ 45 44 89 10.8 | 78.2 23%11A12H 300 |figfgd K 55 150 105 26.4 | 78.6 | 23%118118

6/11 R—=2




BOEHNYN-I5T

1oRE: Z=HERBEA-TOION oRE: =HERBEA-TOION

BREERR - 23%F11H11H () ~ 23F11H12H (H) BEERR - 23%F11H11H (L) ~ 23%F11H12H (H)

@E1-2: RE BT AR IEMCRESE: FyNE BEI-2: E BT AR IECRESE: FyNE

BRiE . 9TWARUF @5 1A SIS BEiSE . 9TWAYF BB 1A SIS

HDCPLEPR : S : 36 L1 : 36 327 : 36 2:)\>74 B % 490 A| |HDCPLPE : 5B : 36 &t : 36 >=7 : 36 2:)\>74 B 4 490 A
Avk: PA 3:7°02 7 % 27 N Avk: PA 3:5°02 iz 27 N

EUR—IL: G 0O6E00 i 00OC0E o= 0A| | BUR-)L: 76 0@GE0E A DEACOE o= 0 A

AT DR0@O® 3. 517 A A7 D00@0® 3. 517 A

JE4sZ 2mE4 *a BT At GROSS HDCP| NET | J1-H mE Nefsz 2maE4 *a BT Ate GROSS| HDCP| NET | JV—H B

301 A i 56 55 111 32.4 | 78.6 23%11A11H 326 A i 49 54 103 24.0 | 79.0 23118118

302 tEH B 59 51 110/31.2 | 78.8 23#118128 327 ;25 Ed 51 52 103 /24.0 | 79.0 23#118128

303 #EES [ 49 149 98 19.2 | 78.8 23118118 328 HA & 51 45 96 16.8 |79.2 23%11A128

304 FxE] tH— 56 | 54 110 /31.2 | 78.8 23%11A811H 329 |2 if— 44 46 00 |10.8 | 79.2 23118128

305 [R B 46 52 98 19.2 | 78.8 23%1183128 330 |[LIfE S¥— 49 | 53 102 122.8 |79.2 | 23%118116

306 YL 22 57| 53 110 /31.2 | 78.8 23%11812H 331|155 atH 51 51 102 22.8 |79.2 23118118

307 #&75 &b 52 58 110 31.2 | 78.8 23%11A128 332 557K il 51 57 108 28.8 |79.2 23#%11A128

308 JII‘JX'J ESY 55 49 104 |25.2 | 78.8 23%11A8118 333 ¥\ =% 55 53 108 |28.8 |79.2 | 23%118126

309 &F AX 44 42 86 | 7.2 |78.8| 23%11812H 334 |{REE HE 57 |56 113|33.6 | 79.4 | 23%118128

310 fEH FWDH 53 51 104 |25.2 | 78.8 23118118 335 B —K 53 |54 107 |27.6 |79.4 | 23%118118

311 &) &R 45 47 92 13.2 |78.8 23#11A11H 336 2 M3FE 44 45 89 | 9.6 |79.4 23%118118

312 & RE& 54 |50 104 |25.2 | 78.8 23118128 337 4l £ 46 | 49 95 15.6 | 79.4 23%11A118

313 18K [EiZE 57 47 104 |25.2 | 78.8 23%114118 338 Ef =5 58 | 55 11333.6 | 79.4 | 23%118128

314 = 151 48 |50 98 19.2 | 78.8| 23118118 339 |1 HE 50 | 51 101 121.6 | 79.4 | 23#118128

315 EIHKEP HE 49 49 98 19.2 | 78.8| #1818 340 HH %5 51 44 95 |15.6 |79.4|23%118118

316 =¥ )& 48 | 50 O8 19.2 |78.8 23#11A118 341 &M = 53 (53 106 26.4 |79.6 | 235118128

317 )| & & 52|52 104 |25.2 | 78.8 23118118 342 H&E T 51 48 99 19.2 |79.8 23%114128

318 At BHE 52 63 115|36.0 | 79.0 23%118118 343 | 515 N\& 48 | 51 09 19.2 |79.8| 3#118118

319 X#K 507 50 47 97 |18.0 |79.0 23%118128 344 Al EE 45 | 48 93 |13.2 |79.8 23#118118

320 fEM [FX 56 53 109 30.0 79.0 23%#11A128 345 |{Rik = 54 | 51 105 25.2 |79.8 | 23%118128

321 FNLL FOA 54 61 115|36.0 | 79.0 23%118128 346 S0 8148 55 50 105|25.2 | 79.8 | 23%118128

322 BEH B2 49 48 97 18.0 |79.0 23%118118 347 {4 K =5 53 52 105 |25.2 | 79.8 | 23118126

323 At M 51|52 103 24.0 | 79.0 23#11A811H 348 &F F 56 43 99 19.2 |79.8|23%11A11H

324 /M 18 51 46 97 |18.0 |79.0 23#11A11H 349 2§ ZFXK 55 44 99 |19.2 |79.8 23#11A11H

325 fHHE s 46 | 45 91 [12.0 | 79.0| 235118128 350 | &5 £ 51 60 111 31.2 | 79.8 23%118128
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HDCPLEPR : S : 36 L1 : 36 327 : 36 2:)\>74 B % 490 A| |HDCPLPE : 5B : 36 &t : 36 >=7 : 36 2:)\>74 B 4 490 A
Avk: PA 3:7°02 7 % 27 N Avk: PA 3:5°02 iz 27 N

EUR—IL: G 0O6E00 i 00OC0E o= 0A| | BUR-)L: 76 0@GE0E A DEACOE o= 0 A

BF DROOGC® B 517 A BF DROOG® B 517 A

JE4sZ 2mE4 *a BT At GROSS HDCP| NET | J1-H mE Nefsz 2maE4 *a BT Ate GROSS| HDCP| NET | JV—H B

351 HEY REX 59 |51 110/30.0 ' 80.0 23%11A128 376 3R] thEE 60 54 114 |33.6 | 80.4 23118128

352 —f& fEH 45 47 92 [12.0 80.0| 23118128 377 &Ll R 53 |54 107 26.4 | 80.6 23%#118118

353 & B 51 53 104 24.0 ' 80.0 23#11A118 378 &g FH 56 |51 107 26.4 | 80.6 23#11A118

354 | |h =%& 56 60 116 /36.0 | 80.0 23%11812H 379 |/\E XNEE 59 48 107 126.4 |80.6 23%118118

355 EH KT 47 | 51 O8 18.0 |80.0 23#11A811H 380 | 1L[E fm— 54 53 107 26.4 80.6 23%11A118

356 |t H s 55 55 110|30.0 ' 80.0 23%118118 381 5T &% 49 |52 101 20.4 |80.6 23%11812H

357 Z]I| &— 48 150 98 18.0 80.0 23%11A11H 382 EifH EXR 55 51 106 25.2 80.8 23#11A118

358 [RH f5— 59 57 116|36.0 | 80.0 23%118128 383 |1 T B 55 51 106 |25.2 |80.8 | 23%118116

359 HE Ri&] 50 42 92 12.0 80.0| 23#118118 384 || LIH 1= 59 53 112 31.2 |80.8 | 23%118118

360 EFl JriE 55 55 110/30.0 | 80.0 23%1178118 385 |1 3% 55 50 105 |24.0 |81.0| 23%1181168

361 |LIHh {RE 60 | 56 116 36.0 | 80.0 23%11512H 386 | A3Z SEN 57 60 117 136.0 |81.0| 23%118126

362 1ziE b=t 54 56 110 30.0 | 80.0 23115118 387 EiZp {EH5 58 59 117 136.0 |81.0| 23%118126

363 HE E= 55 |54 109 |28.8 | 80.2 23%118128 388 |57 JEE 59 51 110/28.8 |81.2 | 23%118126

364 K f&l 50 53 103|22.8 | 80.2 23#11A118 389 [l {EER 58 | 46 104 |22.8 |81.2 | 23%11A128

365 FIS Al 53|50 103 22.8 |80.2 23#11A11H 390 K ;=2 48 | 56 104 |22.8 |81.2 23%11811H

366 HIEP [EFE 46 51 97 16.8 80.2| 23118128 391 | H TefE 52 |52 104 22.8 |81.2 23%11811H

367 RiE 5— 50 |53 103|22.8 | 80.2 23#11A8118 392 fEAR X 52 51 103|21.6 |81.4 | 23%#118128

368 fiHH EX 52| 51 103 /22.8 |80.2 23#11A11H 393 &S 4FER 50 |53 103 /21.6 |81.4 23118128

369 FEP= % 60 55 115 34.8 |80.2 23#118118 394 B2 1BH 5151 102 120.4 |81.6 | 23118128

370 = 1 56 58 114 33.6 |80.4 23#11A118 395 S5 5 47 | 55 102 20.4 |81.6 2#11A118

371 M [E& 58 56 114 33.6 | 80.4 23%11A128 396 ;i B5iE 51|51 102 20.4 | 81.6 23#11/11H

372 Al —X 48 54 102 21.6 | 80.4 23%11512H 397 |t 22 52 56 108 26.4 |81.6 23#11811H

373 @K &1 53 49 102 21.6 80.4 23%11A118 398 F¥ A T 53|49 102 20.4 | 81.6 23#11/8128

374 &R &7 54 54 108 |27.6 | 80.4 23118118 399 % (E& 58 | 56 114 |32.4 |81.6 23#118118

375 3~ #E—Ep 47 55 102 21.6 |80.4 23%11811H 400 {RfE I 57 | 50 107 |25.2 |81.8 | 23%118128
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HDCPLPR : 5% :36 &% :36 =7 : 36 2:)\>74 B % 490 A| |HDCPLPE : 5B : 36 &t : 36 >=7 : 36 2:)\>74 B 4 490 A
Avk: PA 3:7°02 7 % 27 N Ak PA 3:5°02 iz 27 N

BUR-L: 76 00600 G 000600 o=y, 0A| | BUK-IL: FE 00OE0® R DOOODE o=y, 0 A

A7 DQOG® 3. 517 A AT DQOG® 3. 517 A

JE4sZ 2mE4 *a BT At GROSS HDCP| NET | J1-H mE Nefsz 2maE4 *a BT Ate GROSS| HDCP| NET | JV—H B

401 T MR 54 59 113/31.2 |81.8 2#118118 426 %58 BE 59 54 113/30.0 |83.0 23#11A118

402 | BFEP FEZ 50 57 107 25.2 |81.8 23%118128 427 et KF[ 60 46 106 22.8 |83.2 | 23%118118

403 nfE] K& 55 58 113/31.2 |81.8 2#118118 428 H{E 1EF 50 50 100 16.8 |83.2 23#11A118

404 F & /REB 50 |50 100 18.0 | 82.0| 23%11A11H 429 A3 =3k 52 60 112 28.8 183.2 23%118118

405 E£H F1& 43 51 94 12.0 82.0 23#11A11H 430 [EH &R 54 52 106 |22.8 |83.2 23#11A118

406 BEG1E M| 50 56 106 24.0 82.0| 23%#11A11H 431 TN fin— 55 57 112 128.8 |83.2 | 23%115118

407 Nk B2 54 52 106 /24.0 | 82.0 23#11A11H 432 557K gk 55 56 111(27.6 |83.4 23#1178128

408 | H,H F5H 48 52 100 18.0 | 82.0| 23%#11A11H 433 B #2—Ep 55 56 111 127.6 |83.4 23%118128

409 KB —5 50 50 100 /18.0 | 82.0 23%118128 434 fart \IH 54 57 111|27.6 |83.4 | 23#11A118

410 |1|i% 125 64 | 54 118 36.0 82.0| 23%11A128 435 FIBE K 61 56 117 133.6 |83.4 23%118128

411 | ME Bt 51 48 990 16.8 |82.2 23%11A12H 436 Ei5 il 58 |59 117 33.6 |183.4 23%118118

412 K 3R 58 59 117 34.8 82.2 | 23%11A12H 437 5H && 56 | 55 111 127.6 |83.4 23%118128

413 jolll &E1E 48 57 105 22.8 |82.2 23#11511H 438 A)l| =th 56 | 54 110 |26.4 |83.6 23%11811H

414 =515 M| 55 55 110 27.6 82.4 23%#11A118 439 hH = 52 | 58 110 1/26.4 |83.6 | 23%118118

415 ZHFH E2 58 51 109 26.4 82.6 23%11A128 440 IEIFI S 57 53 110 26.4 83.6 23%11A11H

416 {EK FBX 49 53 102 19.2 82.8|23%#11A11H 441 [R5 A Mm@ 54 |56 110 1/26.4 |83.6 | 23%118128

417 KL 5R— 57 51 108 |25.2 |82.8 23#11711H 442 B4 ESEP 55 54 109 |25.2 |83.8 23#11A12H

418 FH F— 47 148 95 12.0 | 83.0| 23118118 443 HH £ 51| 46 97 13.2 | 83.8| 23118128

419 E£H RE 53 54 107 |24.0 | 83.0 23117128 444 B BEX 68 | 52 120 |36.0 | 84.0 23118128

420 F)I| =75 59 60 119 36.0 |83.0 23#118128 445 KB NE 57 63 120 36.0 |84.0 23#118118

421 || #EF 59 60 119 36.0 |83.0 23#118128 446 )| | & =k 56 |52 108 |24.0 | 84.0 23%11811H

422 73 854 50 | 51 101 |18.0 | 83.0 23#11A128 447 ¥ =5 63|57 120136.0 | 84.0 23118128

423 [Si5 Eiift 64 55 119 36.0 |83.0 23#118128 448 | FIEP X0t 60 |60 120 36.0 |84.0 23#118118

424 S5 A 58 61 119 36.0 |83.0 23#118128 449 A E MG 66 | 54 120 36.0 |84.0 23118118

425 [LUA 5= 59 | 60 119 36.0 |83.0 23%#11811H 450 | 54T E T 46 | 55 101 |16.8 |84.2 23118118
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BRiE . 9TWARUF BIEk : 1:4EAE S BESE | STWRUF BEIEL  1:4EERE SN

HDCPLPR : 5% :36 &% :36 =7 : 36 2:)\>74 B % 490 A| |HDCPLPE : 5B : 36 &t : 36 >=7 : 36 2:)\>74 B 4 490 A
Avk: PA 3:7°02 7 % 27 N Ak PA 3:5°02 iz 27 N

BUR-L: 76 00600 G 000600 S=7: 0A| | BUK-IL: FE 00OE0® R DOOODE S=7: 0 A

A7 DQOG® 3. 517 A AT DQOG® 3. 517 A

JE4sZ 2mE4 *a BT At GROSS HDCP| NET | J1-H mE Nefsz 2maE4 *a BT Ate GROSS| HDCP| NET | JV—H B

451 FX &K 59 60 119 34.8 84.2 23%11A118 476 |SEEM FE— 53 |59 112/25.2 |86.8 23#11A118

452 | KE Hi& 54| 52 106 21.6 84.4 23%11A11H 477 [ H_E (B 52 | 60 112 25.2 186.8 23118118

453 | &F F= 59 59 118 33.6 |84.4 23#11A128 478 |iAfE 1E2 69 |54 123 36.0 | 87.0 23#11A128

454 5 Kt 57 61 118 33.6 84.4 23%118128 479 =H 58 65 123 136.0 |87.0 23#118128

455 a4 SE—EBA 66 |52 118 33.6 | 84.4 23%11811H 480 RE 8 56 67 123 /36.0 |87.0 23#11A128

456 [E1F X 64 53 117 32.4 84.6 23%11A128 481 EH 168H 590 64 123136.0 |87.0 23118128

457 1% BSic 57 160 117 32.4 84.6 23%11A118 482 |/|\BY i7 8 63| 60 123 136.0 |87.0 23%118118

458 & /X 54 | 57 111 |26.4  84.6 23#118128 483 5K 58 56 114 |26.4 |87.6 2#118118

459 fEf] 12— 60 57 117 32.4 | 84.6 23#11811H 484 RH] 183 65 | 59 124 |36.0 88.0 23#11A11H

460 DO XUAN HIEU |57 60 117/32.4 | 84.6 231178128 485 |/\E¥ 18t 57 65 122/33.6 |88.4 23#11A118

461 |[RH = 48 50 08 13.2 |84.8 23#11811H 486 Il ¥hdk 53|56 109 20.4 88.6 23%11A11H

462 FxH [EF/K 60 61 121 36.0 85.0 23%#11A118 487 AN B 55 164 119 /30.0 |89.0 23%118118

463 JE/K A5 59 | 50 109 24.0 |85.0 23#11A12H 488|110 R 61 |64 125 36.0 |89.0 23#118128

464 B[R 2% 64 57 121 36.0 85.0 23#11A11H 489 F¥H HF 60 65 125 36.0 |89.0 23#11A12A

465 423 LmiE 57 64 121 36.0 |85.0 23#11A128 490 & tHX 58 67 125 /36.0 |89.0 23#11A11H

466 tE K& 57 62 119/33.6 |85.4 23#11A128 491 |{ffs B 55 63 118 28.8 |89.2 23#11A11H

467 HPZE Si1Et 50 62 112 26.4 85.6 23%11A11H 492 Figig #ik— 49 62 111 21.6 |189.4 23%118118

468 =+t (55 57 54 111 |25.2 | 85.8 23%11A8118 493 /B KiE 67 |59 126 36.0 |90.0| 23118118

469 AZK 5 _ 61 61 122 36.0 | 86.0 23115128 494 | KB 5 61 66 127 /36.0 191.0| 23%118128

470 | RE 59 | 63 122 36.0 |86.0 23#11812H 495 | B AR 66 61 127 136.0 |91.0 | 235118118

471 | /= X 60 62 122 36.0 |86.0 23%118128 496 | ¥ EF 63 | 64 127136.0 191.0| 23%118128

472 Y H 185k 63 59 122 /36.0 | 86.0 23118118 497 )11 B 64 64 128|36.0 192.0|23#11A128

473 {HH R= 59 | 56 115|28.8 | 86.2 23%118118 498 VB BF 65 64 129 136.0 |93.0 23#118118

474 1818 % 61 54 115 28.8 |86.2 23118118 499 InA 55— 64 66 130 36.0 |94.0 23#118118

475 1F[f) 5 56| 58 114 27.6 86.4 | 23%11A118 500 . &0t 68 62 1301/36.0 |94.0 23%118128
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BERAE T 9TWRUF BlEhr : 1:4FH88 SHNAER BEiRAE . 9TIWRUF B5lahr ;. 1:44FH88 SHNAER

HDCPLPR : B4 :36 &k :36 227 : 36 2:)\>54 B 15 490 A| |HDCPLPE: B4 :36 2% : 36 =7 : 36 2:)\>7+« B % 490 A
Ak PA 3:°0A T M 27 A hk: PA 3:°0A T 27 A

Buk—IL: "B @@ee0® A OB@OGD® Sy 0 A BUk—IL . "E 0@00e0® Ak OB@GD® 37 0 A

BT DRQE@G® & S17 A AT DRQE@G® S 5174

&4z &4 na | BF Al GROSS HDCP| NET | 2Jv—H [ [:2iva &4 *a | BT Al GROSS HDCP| NET Jv-8 w5

501 St5 &A 64 68 132 36.0 |96.0 | 23%11A11H

502 KEY = 68 |64 132 36.0 |96.0 23%11812H

503 | M) 584F 63 71 134 |36.0 |98.0 | 23%11A11H

504 WA BE— 66 | 69 135 36.0 |99.0 23%11812H

505 #ES JEIRER 61|75 136 36.0 100.0 23%118128

506 2£MH A 59 75 134 33.6 100.4 23%11811H

507 | —f§ E2JAL 73 66 139 36.0 103.0 23%118128

508 #InAKk & 67 73 140 36.0 104.0 23%11811H

509 Ry 3 71 70 141 36.0 | 105.0 234118118

510 ||| X {%iE 74 69 143 36.0 107.0 | 23#118128

511 |{REE 12 72172 144 | 36.0 | 108.0 23118128

512 f8/R K& 74 | 74 148 |36.0 | 112.0 234118128

513 BAx 5& 75174 149 |36.0 | 113.0 23%118128

514 ;55 & ZHEB 76 |75 151 |36.0 | 115.0 | 23#11811H

515 {B[H E{_ 76 78 154 |36.0 | 118.0 23118118

516 f&E|L sois] 81 86 167 36.0 |131.0| 23%118128

517 |BAZR JEFE 80 87 167 36.0 131.0 23%11811H
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